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1 Homework Set 3

Grimaldi’s book (5. ed., Exercises 15.1): solve Exercise 1 c,d
Grimaldi’s book (5. ed., Exercises 15.1): solve Exercise 2 c,d
Grimaldi’s book (5. ed., Exercises 15.1): solve Exercise 11 b,c
Grimaldi’s book (5. ed., Exercises 15.1): solve Exercise 10
Grimaldi’s book (5. ed., Exercises 3.2): solve Exercise 16
@ Let B be a Boolean algebra. For x,y, z € B find the dual expressions of

oy +ax-2 +y-a

i)z y-2 +x-y -z

iii) x-y- (r+04+(2-1))

Let B be a Boolean algebra. Prove for x,y € B that -3’ =0 if and only if -y = x.

Let B be a Boolean algebra. Let x,y,z € B and reduce the following expressions as
much as possible.
i) xyz'yx it) wyz'ya's
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